read " febldhw. txt ;

F:=(n,a,i)->2"(n-1)*binomal (n,i)*binom al (a, 2"i )/ bi nom al (2"n,
2N

2"~ combinat-binomial(n, i) combinat-binomial( a, 2")

F:=(na,i)— ; 1
combinat-binomial (2", 27) )
seq( ! nplicantAve(3,i,1),i=1..8);
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————— 12 2
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0,2, 2, 28 2 22 L9, 12 3)
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seq(F(4,i,2),i=1..16);

6 6 18 6 12 108 36 396 594 66 66
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45591 91 13 13 65 13 91 91 7 5 ®)
seq(F(4,i,1)-InplicantAve(4,i,1),i=1..16);

0,0000,000,000,000,0,0 (6)

seq(F(4,i,2)-InplicantAve(4,i,2),i=1..16);
0,0,00000000000000 (7)



